1. How many @ coins make | euro?

. What change will | get from 50 cent if | bt
. Emma was 5 minutes late for school. If sC

® Nows

. Thisisa______(cylinder, cone or pyramid),

y sweets for 27 cent?
hool starts at 9.15,

at what time did Emma arrive?

: - S
How many halves in 33 ? |
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Which is the even number: 25, 26, 277

What is the largest number you can make @ 6

using these 3 figures?

A girl in 3rd class weighed 3 1kg. A boy in 6th weighed ¥5kg.
How much heavier was the 6th class boy?

What number goes at A?
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It is 80 kilometres from Dublin to Mullingar.

How far will Dad have gone at half way? 10.

- How many angles are there in this semicircle:
none, one or two?  ganl
| Score

. Might a ruler be 30cm, 30m or 30km long?
. What change will | have from €1
when | buy a bottle of orange for 89 cent? 2.

. Write this time in figures.
3.
&.
2 %3 =24
Four oranges cost one euro. How many will | get for €27 S.
If today is Tuesday, what day will it be in 7 days’ time?
Which number does not belong: 6, 12, |8, 25, 30, 367 &
et T At 1iiidig 7.
t 1 4

What is the cost of 2 copies at 22 cent each?
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There are __ (7, 12 or 24%) hours in a day.

Five chewing gums cost 20 cent. What does one cost?
499 =400+ |+ 9

19, 20, 21, 22. Add the even numbers.

MOT. This is a boy’s name as it would look in a mirror.
What is his name?

| had €1 and bought a loaf. | got 30 cent change.

How much was the loaf?

FEEB

o

7. A glass holds i of a litre. —
How many glasses can | fill with | litre of milk? |\

1 litre
8. This fnagic square adds up to 719|4
|5 in each direction. Complete.
T3
6| 1|5

9. Divide €1 equally among 5 children.
What is one child’s share?
10. Do we measure the length of a room in
kilometres or metres?

i 1. Add | to 899
. 2. What change did Mum get from 50 cent
after buying a stamp for 36 cent?

3. How many hours in za day?
4. 8x 100 =[]

. |;| 5. How many angles inside this hexagon? <:>

6. Fwe chewing gums cost 20 cent.
s the cost of 3 chewing gums?
ﬁple welghs 150 grams.

jarter hours in -I.-:;-z hours?
i ‘:_._e;ls_-._.-nfl,‘._eeﬂSured in centimetres

ot an even number is an

is an odd number: 2, 4, 6, 8, 4, 10?

Answer
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